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1 | #include <stdio.h>

2 | #include <GL/glut .h>

3 | #include <math.h>

4 | #include <stdlib .h>

5 | #include <time.h>

6

7 | #tdefine HWIN 400 // 0000000

8 | #define W.WIN 300 // 00000000
9

10 | #4define W2_HODAI 10 // 0Do0oo0oooooo
11 | ##define H_HODAI 15 // 000000 y0Oo
12 | #define L_HODAI 5 // 000000y00
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#define

//—— D0D0o0o0oao

void

void
void
void
void
void
void

void
void
void
void

void
void

void
void

L.EBEAM 20
V.EBEAM 1.5
N_EBEAM 1

LIBEAM 10
VIBEAM 0.8
P_I_.BEAM 500

N_I.BEAM 20
NXIV 9

NYIV 4
VINVADER 0.1

NOTDECIDE 0
INVADER 1
HUMAN 2

initialize (void);

draw (void);
draw_result (void );
draw_hodai(void);
draw_e_beam (void);
draw_i_beam (void);
draw_invader (void);

change_state (void);
state_e_beam (void);
state_invader (void);
state_i_beam (void);

mouse_xy (int x, int y);

shoot (unsigned char key, int x,

resize (int w, int h);
set_color (void);

//—— D0 00oooao

double xc =

100.0;

typedef struct{
unsigned char status;
double x, y;
}invader;

invader invd [NXIV][NYIV];
int alive_inv=NXIV«NYIV;
double inv_vx=VINVADER;

typedef struct{
char status;
double x;

double yO0,

vl

double vy;
}beam;

beam e_beam [N.EBEAM];
beam *p_e_beaml;
beam i_beam [NJIBEAM];

int
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int winner = NOT_DECIDE;
char *win="You won a game.”;
char xlost="You lost a game.”;

//
// mainO O

//

int main(int argc, char xargv([])

{

initialize ();
glutInitWindowPosition (100,200);
glutInitWindowSize (W.WIN,H-WIN ) ;
glutlnit(&arge, argv);

glutInitDisplayMode (GLUT.RGBA | GLUTDOUBLE); /,
glutCreateWindow (” space invader modoki”);

glutDisplayFunc (draw);
glutReshapeFunc(resize);
glutIdleFunc (change_state);
glutPassiveMotionFunc (mouse_xy );
glutKeyboardFunc (shoot );
set_color ();

glutMainLoop ();

return 0;

}

// 0000 (z,y)00
// 000D00(0000)00
// GLUT 0 0 0O
», 00000000
// windowD 00O DODDODODO
// 00000000000
// 0000000000000 0000
// 00000D00¢(000O00)
// 0O0O0ooOoOoo0¢(ooooao)
// 000000000 (0O0O0D000)
// 00000000
// GLUTODOODODODO

//
// 000

//
void initialize (void)

{

int i, j;
srand ((unsigned int)time (NULL));

for (i=0; i<N.EBEAM; i++){
e_beam[i].status=0;
e_beam [i]. y0=H.HODAHL_E BEAM;
e_beam [i].yl1=H HODAI;
e_beam[i].vy=0.0;

}

e_beam [0]. status=1;
p-e-beaml=&e_beam [0];

for (i=0; i<NIBEAM; i++){

i_beam[i].status = 0;
i_beam [i].y0 = 0;
i_beam[i].yl = 0;
i_beam[i].vy = V.I.BEAM;

}

for (i=0; i<NXIV; i++){
for (j=0; j<NYIV; j++){
invd[i][j].status=1;
invd[i][j].x = 20%(i+1);

// 0000000000

// 000000

// z,y00 20000000

invd[i][j].y = HWIN — NYIV%20+10+20%] ;

}
}
}
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//

// 0ooao

//

void draw (void)
glClear (GL.COLOR_BUFFERBIT);

if (winner != NOTDECIDE) draw_result ();

draw_hodai (); // 00000o0oo0oo0ooo
draw_e_beam (); // 0000000000000 O0oo0oooo
draw_i_beam (); // 000000000000000000000
draw_invader (); // 000000000000 00 00
glutSwapBuffers (); // 00
}
//
// 00000
//
void draw_result (void)
{
int 1=0;
glColor3d (0.0, 1.0, 0.0);
if (winner=HUMAN){
while (win [i]!="\0"){
glRasterPos2i(50+15%i,100);
glutBitmapCharacter (GLUT BITMAP_TIMES ROMAN 24, win [i]);
14+
}else if(winner==INVADER){
while (lost [1]!="\0"){
glRasterPos2i(504+15%i,100);
glutBitmapCharacter (GLUT_BITMAP_TIMES_ ROMAN_24, lost [i]);
i+
}
}
}
//
// 00000000000
//
void draw_hodai(void)
{

glColor3d (0.5, 1.0,
glBegin (GLPOLYGON) ;

0.5); // 00000 (RGB)

glVertex2d (xc—W2_HODAI,
glVertex2d (xc+W2_HODAI,
glVertex2d (xc+W2_HODAI,
glVertex2d (xc—W2_HODAI,
glEnd ();

L_HODAI);
L_HODAI);
HHODAI);;
H.HODAI);;

//

// 0o0o0o0oooooooooao

//

void draw_e_beam (void)




199 | {

200 int i;

201

202 for (i=0;i<N_EBEAM; i++){

203 if (ecbeam[i].status != 0){

204 glColor3d (1.0, 0.0, 0.0); // 00000 (RGB)
205 ¢1Begin (GL_LINES ) ;

206 glVertex2d (e.beam[i].x, e_beam[i].y0);

207 glVertex2d (e_beam[i].x, e_beam[i].yl);

208 glEnd ();

209 }

210 | }

211 | }

212

213

214 | //.

215| // 0000000000 DODOOO

216 | //

217 | void draw_i_beam (void)

218 | {

219 int i;

220

221 | for(i=0; i<NIBEAM; i++){

222 if (i_beam [i]. status = 2){

223 g1Color3d (0.0, 0.0, 1.0); // 00000 (RGB)
224 glBegin (GL- LINES)7

225 glVertex2d (i-beam[i].x, i-beam[i].y0);

226 glVertex2d (i-beam [i].x, i-beam|[i].yl);

227 glEnd ();

228 }

220 |}

230 | }

231

232

233 | //

234| // 0000000000

235 | / /-

236 | void draw_invader (void)

237 | {

238 int i, j; // 00000004040

239

240 for (i=0; i<NXIV; i++){

241 for (j=0; j<NYIV; j++){

242 if (invd[i][j].status==1){ // 0000000000D000000D0
243

244 // oo

245 glColor3d (1.0, 1.0, 1.0);

246 glBegin (GLPOLYGON) ;

247 glVertex2d (invd [1][j].x—8, invd[i][]j].v);
248 glVertex2d (invd [1][j].x=3, invd[i][]j].y—4);
249 glVertex2d (invd [i][j].x+3, invd[i][]j].y—4);
250 glVertex2d (invd [1][j].x+8, invd[i][]j].¥);
251 glVertex2d (invd [i][j].x+3, invd[i][]j].-y+4);
252 glVertex2d (invd [1][j].x—3, invd[i][]j].y+4);
253 glEnd ();

254

255 //———— 0 0 00

256 glBegin (GL_LINES);

257 glVertex2d (invd [i][j].x=7, invd[i][j].¥); // 00
258 glVertex2d (invd [i][j].x=7, invd[i][j].y+6);
259 glVertex2d (invd [1][j].x+7, invd[i][]j].v); // 00
260 glVertex2d (invd [1][j].x+7, invd[i][]].y+6);
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glVertex2d (invd [1][j].x—4, invd[i][j].y—4); // OO
glVertex2d (invd [1][j].x—6, invd[i][]j].y—8);
glVertex2d (invd [i][j].x+4, invd[i][j].y—4); // OO
glVertex2d (invd [1][j].x+6, invd[i][]j].y—8);
glVertex2d (invd [i][j].x—2, invd[i][j].y+4); // 0 OO
glVertex2d (invd [1][j].x—=5, invd[i][]j].y+6);
glVertex2d (invd [i][j].x+2, invd[i][j].y+4); // 0D OO
glVertex2d (invd [1][j].x+5, invd[i][]j].y+6);
glEnd ();
// 00
glColor3d (0.0, 0.0, 0.0);
glBegin (GLPOLYGON) ; // 00
glVertex2d (invd [i][j].x=3, invd[i][j].¥);
glVertex2d (invd [1][j].x—1, invd[i][]j].¥);
glVertex2d (invd [1][j].x—1, invd[i][]j].y+2);
glVertex2d (invd [1][j].x—3, invd[i][]j].y+2);
glEnd ();
glBegin (GLPPOLYGON) ; // 00
glVertex2d (invd [i][j].x+3, invd[i][j].y¥);
glVertex2d (invd [i][j].x+1, invd[i][j].y);
glVertex2d (invd [1][j].x+1, invd[i][]].y+2);
glVertex2d (invd [i][j].x+3, invd[i][]j].-y+2);
glEnd ();
}
}
}

}

//

// 0000

// 00000 window 00 O0O0O0O0OO0OOOO0OOCOOOOAO

// 0o

// w: 0000 000

// A:0000 0000

//

void resize (int w, int h)

}

glLoadIdentity ();

glViewport (0,

gluOrtho2D (0, W.WIN, 0, H.WIN);
0, w, h);

//
//
//

Oooooooooao
worldd OO0OO0O
Ooooooooooao

//
// PCOOODDOODODOODOODOOOODOO

ooooooooao

//

Vo

{

}

id change_state (void)

if (winner = NOT_DECID
state_e_beam ();
state_invader ();
state_i_beam ();

}

glutPostRedisplay ();
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// 000000000 O0Do0O0oDOoo0aOo
//

void state_e_beam (void)

{

int 1,1 ,m;

int st0=0;

int rdy=0;

int nshoot=0; // 00000000000 O0oOoaO
double min_y=H WIN+L_E BEAM; // 000000000000 yO0O
double ydis; // 00000000 ooooooao

for (i=0; i<N.EBEAM; i++){
switch (e_beam|[i]. status){

//———— 000000000000

case O0:

st0=i; // 00o00oo0oooDoooooao

break;

//————— 00000000000

case 1:

e_beam[i].x = xc; // z000 00

rdy =1; // 000000000000 o0o0D0o0o0oOoN
break;

//———— Q0o0o0ooooooooooo

case 2:

nshoot++; // 000000000000000
e_beam [i].y0 += e_beam[i].vy; // 00o0ooao

e_beam[i].yl 4= e_beam|[i].vy;

//—— oooobooooooobooopoooooo0b g ————
for (1=0; I<NXIV; I1+4++){
for (m=0; mxNYIV; m++){
if (invd[1][m]. status==1){
if ((invd[1][m].x—8 < e_beam[i].x) &&

(ecbeam[i].x < invd[1l][m].x+8) &&

(invd [1][m].y—4 < e_beam[i].y0) &&

(ecbeam [i].yl < invd[1][m].y+4))
invd [1][m]. status=0; /
alive_inv ——; /
if (alive_inv==0)winner=HUMAN;
e_beam[i]. status=0; /,
e_beam [i].y0=HHODAHLEBEAM; //
e_beam [i].yl=H HODAI;

}
}
}
}
//—— 0000000000000 0oo0DooDoDoDooOoao
if (HWIN+L EBEAM < e_beam[i].y0){
e_beam[i].status = 0;

e_beam[i].y0 = HHODAHL EBEAM;
e_beam[i].yl H_HODAI;
e_beam [i].vy 0.0;

if (e.beam[i].y0 < min_y) min_y=e_beam|[i].y0;
break;

default:
printf(”e_beam status error!!\n”);




385 exit (1);

386 }

387 )

388

389

390 //— 0000000000000 o0ooooDooao

391 ydis = min_y—H_HODAI;

392 if ((2.5xLEBEAM < ydis) && (rdy==0) && (nshoot<N_EBEAM) ){

393 e_beam [st0].status=1;

394 p-e_-beaml=(beam =x)&e_beam [st0 ]; // 0o0oooo0oo0oooDoo0oooooao

395 |}

396 | }

397

398

399 | //

400 | // 00D O0DO0O0DODO0ODODOODOO

401 | //

402 | void state_invader (void)

403 | {

404 int i, j, k;

405 double ivmin_x=W_WIN, ivmax_x=0;

406 double ivmin_y=H WIN, ivmax_y=0;

407 int can_attack;

408

409 for (i=0; i<NXIV; i++){

410 can_attack=1;

411 for (j=0; j<NYIV; j++){

412 if (invd[i1][j]. status==1){ // 0o00ooao

413 invd[i][j].x 4= inv_vx; // 000000

414 //—— O0oooooooooooooo0 g ———

415 if (can_attack =— 1 && rand()%P.I.BEAM — 0){ // 0 0O0OO

416 for (k=0; k<N_I.BEAM; k++){

417 if (i-beam [k].status !=2){ //

418 i_beam [k].status =2; //

419 i_beam [k].x = invd[i][]].x;

420 i_beam [k].y0 = invd [i][j].y;

421 i—beam [k].yl = invd[i][]].y-L-I-BEAM;

422 break;

423 }

424 }

425 }

426 //— O0O00oooooooooooooao

427 if (invd [i][j]. ivmin_x) ivmin_x=invd [i][

428 if (invd[1][j]- ivmax_x) ivmax_x=invd[i]]
£ ( [i]]

[1]]

[m -
0o
0o

oo
00

429 invd [1][j]. ivmin_y) ivmin_y=invd
430 if (invd[1][j]- ivmax.y) ivmax_y=invd
431 can_attack=0;

432 }

433 }

434 | }

435
436
437 if (ivmin_x < 10) inv_vx = VINVADER; //
438 if (ivmax_x > W.WIN-10) inv_vx = —V.INVADER; //
439
440 if ((ivmin_x < 10) || (ivmax.x > W.WIN—-10)){ // 00o0oooo0oao
441 for (i=0; i<NXIV; i++){

442 for (j=0; j<NYIV; j++){

443 invd[i][j].y —= 10; // 00000

444
445 }
446 |}

< XMW
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447 |}
448
449

450 | //
451 //DDDDDDDDDDDDDDDDD

452 | //

453 | void state_i_beam (void)
454 | {

455 | int i;

456
457 | for (i=0; i<NIBEAM; i++){

458 if (i-beam [i].status ==2){

459 i_beam[i].y0 —= i_beam|[i].vy;
460 i-beam[i].yl —= i_beam[i].vy;
461
462 if(i_beam[i].yl < 0) i-beam|[i].status=0;
463
464 if ((xc—W2.HODAI < i_beam [i].x) &&

465 (i-beam [i].x < xc+W2HODAI) &&

466 (L.HODAI < i_beam[i].y0) &&

467 (i-beam [i].yl < HHODAI)){

468 winner=INVADER; // 00000000
469 }

470 }

ar1 |}

a2 | }

473
474

475 | //
476 | // 00 O0DO0OO0OO0OO0OO0O0OO

417 | /)

478 | void mouse_xy (int x, int y)

479 | {

480 XC=X; // 0000 z00000000000 ze OOO
481 | }

482
483

484 | //
485 | // O

oo0oo0oooao
486 | // O goooooooooooooooodd

487 | / /-

488 | void shoot (unsigned char key, int x, int y)
489
490 //— ooooooooooooooobooooooooo0 0 ———
491 if (key=—" ’ && p_e_beaml != NULL){
492 p-e_beaml—>status = 2;

493 p-e_beaml—>vy = V_EBEAM;

494 p-e-beaml = NULL;

195 |}

496 | }

497
498
199 | //.

NN
ooog
[ |
[ |
ooaoa
Oooo
ooo
ooo
Oooog
Oooog
O O
O O

O

500| // 0000

501 | //

502 | void set_color (void)
503
504 glClearColor (0.0, 0.0, 0.0, 1.0); //0000000
505 | }
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2.2.1 OpenGLOOOOO

doooboooooooooobobobooobboboobooooboooboooooooooooboo
00000 2000000000000000000000OC00O000000O0O00OO0OGLUT(OpenGL)
goooooboobobobobbooooobooooooboobooboooooooobobooooboDbDo
good
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void glutKeyboardFunc(vod (*func)(unsigned int key, int z, int y))
D[Il:ll:ll]l]l:lllj[lljljljDDDDD[I[I[IDDDDDDDDDDDDDDDkeyDDD
Joddbz0 yODODDODODODO0OO0O0ODO0ODODOOOOO

void glutPassiveMotionFunc(vod (*func)(int z, int y))
gboboooboboooooboobobboooobooboboboboooooboboon
ofooobodoobez0 yUODOOODODOOOOODOOOOOO

void glRasterPos2i(int z, int y)
000000000 (0o0ooOU0o000000UO0OO0) 000000 z0 yODODOOOO
goooooon

void glutBitmapCharacter(void *font, int char)
000000000000 fort000000000char00000O0O

2,22 00

gooooooboododoooooooooboobooobooooooboooooooobooon
odooooooOoonoooO00OoooooooDOo0DooDODoDoooDO0000oo0ooooooooon
0000000000000000000000000000 cCO000000002147483647000200
gododooooooobood

O00o0oooooooooooo0D000ooouoo0oooooo0oDoOoDooooDoooOoog
ooooooog

COOD0O0O0DU00O0DOrand) 000000 0DOCODOO0O0O0OOO00OO0O0OO0OODOOOOOrandQ)
00000000000 0o00oo0doooD alilobooooog

for(i=0; i<ndata; i++){

alil=rand();
}

0000000000000 o00D QUUODO0ooOoooO0)oo0ooo0o0oDOooOUDOUOoOOUOo
gboodobooooboboooooooobooboooooooooobbooboobooooooboOoaon
00000000000 rand() 0000000003 0000000000000 O0O0O0O00000OO
O00000randO OD0OD0OO0O0OO0O0ODOOOOOODOOOOOOODOOOOOODODOOODOODOOOO
goooooooooobooooooog

ooooooooDbOoOo0ooO0o0ooD0DOobO00O0000000D time(OOO0OO0OOOOOO
000000000000 O0srandO 00000 (D000 0UD)000000000OO0OOOOOOOO
oooooboboboboboboboooobooboono

srand ((unsigned int)time(NULL));

lASCIIOOOoOoooOoooooo
2002%1-10000000
30000 seed(0)0000D0OO
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oooolb0ooobbobOtimed 00000000000 OO0O0OOCOOOODOOOOODOODOODOOODO
000 (unsigned int) O 00000000 OCDOOOODOCOODDOOODODOOODOOOO0O0OOtime()
goooooooboobdoooobodooobobooobooouoobooboObbOo0oboONuLL
gboboOoooooboooo

00000000000 000000OrandO 0 srandO0timeO D000 O0O0O0ODOOODOOOOO
Oo000o0oo0ooooODO0o00ooo0oOooooODOOo00oO0bO0bO00b0O0dOrand() 0 srand()
00 stdlib.h O 0Otime(O U0 time.h OO DDODO0O0DDOOOOO0O0O0O afilO 102400000
gboboobooooobooooboooon

#include <stdlib.h>
#include <time.h>

int main(void){
int a[1024], i;

srand ((unsigned int)time(NULL));

for(i=0; i<1024; i++){
alil=rand();
}

return 0;

b0 1goooooobblesobbobooobooooooooobooo415000000o0o0ona0
oobooOobo0oooooobOobooooooobooboboob4150000d

rand()%P_I_BEAM ==

O000000Orand(O%P_IBEAMOOP.IBEAMOD 10000 o0OOO0ODYODOCOODOOOOOOOOO
ooooo

3 Uooooboogd

(01 000 1000000000000 D0000D00000O 0000000000

(002 000 100000000000000000000 (72400#define) 000000
gooooboooboogoood

(00 3] 000 1000000000000 0O00000000O00DOOUOOO0OOODUOOD
goobooOoooooooaon

(004 000 10000000000 0O0O0DOOOODOOOOO
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